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runner%cat lists.c

/* lists: test recursive printing of
#i ncl ude <stdi o. h>

#i ncl ude "stack.h"

linked lists */

voi d mai n(voi d)
{
char c;
while ((c = getchar()) !'="q9) {
switch (c¢) {
case 'i’': ¢ = getchar();
if (push(c)) printf("No roomn");
el se printf("% pushed\n", c);
br eak;
case 'r’': if (pop(&c))
printf("Enmpty stack\n");
el se printf("% popped\n", c);
br eak;
case 'p’': ¢ = getchar();
if (c =='s") printstack();
else if (c =="r")
printstackrecurs();
else if (c =="Db")
printstackreverse();
el se printf("lnput error\n");
printf("\n");
br eak;

default: printf("Input error\n");

wr__m ((c = getchar()) '="\n")

runner % cat stack.h

/* stack.h: stack header

t ypedef char Stacktype

i nt pop(Stacktype *); /* pop an item
Return O if ok, -1 if not */

i nt push(Stacktype); /* push an item
Return O if ok, -1 if not */

int enpty(void);

int full (void);

void printstack(void);

voi d printstackrecurs(void);

voi d printstackreverse(void);

file */

lof?2

runner % cat stack.c
/* stack.c: stack inplenentation */
#i ncl ude <stdio. h>
#i ncl ude <stdlib. h>
#i ncl ude "stack. h"
struct snode {
St ackt ype c;
struct snode *next;

1

static void printstack2(struct snode *);

static void printstackrecurs2(struct snode *);
static void printstackreverse2(struct snode *);
static struct snode *s = NULL

static int filledup = O;

i nt pop(Stacktype *ch)

{
struct snode *ssave;
if (enpty()) return -1;
*ch = s -> ¢;
ssave = s;
S = s -> next;
free(ssave);
return O;
}
i nt push(Stacktype ch)
{
struct snode *t = (struct snode *)
mal | oc(si zeof (struct snode));
if (t == NULL) {
filledup = 1;
return -1;
}
t -> next = s;
t ->c = ch;
s = t;
return O;
}

int enpty(void)
{
return s == NULL;
}
int full(void)

{
return fill edup;
}
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voi d printstack(void)

{
}

static void printstack2(struct snode *s)

{

printstack2(s);

while (s !'= NULL) {
printf("%", s -> c);
S = s -> next;

}

voi d printstackrecurs(void)

{
}

static void printstackrecurs2(struct snode *s)

{

printstackrecurs2(s);

if (s I'= NULL) {
printf("%", s -> c);
printstackrecurs2(s -> next);

}

voi d printstackreverse(void)

{
}

static void printstackreverse2(struct snode *s)

{

printstackreverse2(s);

if (s !'= NULL) {
printstackreverse2(s -> next);
printf("%", s -> c);

20f2

runner%cc -o lists lists.c stack.c
runner% /| ists

ia

a pushed

ib

b pushed

ic

¢ pushed

zyxwut srqponnl kj i hgf edcba
pr

zyxwut srqponm kj i hgf edcba
pb

abcdef ghi j kl mopqr st uvwxyz
q

runner%1lists

ia

a pushed

ib

b pushed

ic

c pushed

pr

cha

pb

abc

r
c popped
r
b popped
r
a popped

q
runner %



